SECIIQN.A

Evaluate the following
T (3mks)
145 - (34 +5/18) + %/5

4°/g - (51/5 +1/5 of 25/‘35‘-)

2. The GCD of three numbers is ten while their 'L:fCM'is 50,400, if the two numbers are 1440 and

1120, find at le'ast_ three possible values of the third number. (3mks)
¥ 3. Simplify the following 720% x 576 5 | f - (2mks)
b/ 2 0.6
710 % 5 ‘7b 0| 064
0 by Ao s
q12.05 r 51
K
b.by %

4. The density of milk is 1.2g/cm? while that of water is 1g/cm?. Milk and water are mixed in the

ratio 3:5 by mass. Find the density of the resulting mixture. (3mks)
-5, Find the values of w, xand y below Yo v . (3mks)
8 ;L‘r77— (& 7!-/
’f“«g o

- Total
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6. Use siquare,rsq'uare root and reciprocal tables to.evaluate the vah-le ofx. . (4mks)

-1 1
l 35 = 001055
x . - B

Ry

7. In the flgure below, ABCD isasquare and P and Q are mldpomts of AD and BC respectlvely

Calculate the fraction of shaded area to the whole:s square. . T (kas)
A L S
B2 N /B ' ¥ oo™ —
~. | 4
j ;-»_‘( Tl X
P JA
- AN .
DE—————¢

8. The Kisumu - Kitale highway needing recarpetmg is. shared outto three contractors Mukoya, .
Wekesa and Otiende. Mukoya has 30 men workmg for 9 weeks Wekesa has: 18 men working -
for 10 weeks and Otiende has 24 menmonkmg on‘»lSuweeks If the total payment for hlghway
construction was Shs. 171,000,000/=. : .

a) Calculate the total labour week for cbmpletion aof the highway. . » v ( Imk)

QCFXU

b) Calculate Otiende’s wage bill * I e (amk)

The line Y = mx +3 is perpendicular to nother line ny + Xx= 6 Fmd the values of m and n if both

lines have a common y-intercept. . T ' (kas)
| Mr-="1

’ Total' o

Jwww.manyamfranchise.com. -

o




10. The cube shown above of side 15cm has a tight rope tied from Point E passed around BF CG DH

and finally fixed at A as shown.
a) Usingscale oflcm represents Scm, draw the labelled net of the cube showing the path of the

string. - o (2mks) -
o .o
”" T - -é
A et B
e
b) Find the length of AE. . N o mk)

11. A solution whose volume is 80 litres is made up of 40% water and 60%_»a]i:ohol'. When x litres of-
- water are added, the percentage of alcohol, drops to 40% :

Find the value of: X - (kas)
(ge) : b‘& L‘T(m) c
\W 3—,1L o H&’L
B A STy |
==
$D$’7(/ \ov
'12. Use logaiithms to evaluate the following
' ' ' (4mks)

-

[ 0.9324 x 04671 ]"s
0.0345

Total
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13

14.

15,

‘Solve for x in the equation.

Tw6 cylindrical cans of ra

(2mks)
2 22X o S
5 3 :’:;é
- 7 -3
ZLL} ) = # 5
ax = T2
R

dius r and 1.2r have water ypto the same level of height. Some water is

poured out from the bigge
the percentage rise in hei
(2mks)

D .
C{— 0N W

-
‘(-2 - '.(: U' L{)'LL\

L.r container to the smaller £o as to give the two an equal volume. Find
sht on the smaller cylinder. S

2 AN ~
3 im B _
b -S4 The figure ABCis a rectzi’ngle of side .
C f{ TR 4. 8cm by 6cnt. Calculate the rati‘o Ax:va |
4 L (2mks)
p ?Cf\- C ) .
q.lc.

16. Solve the following equations simultaneously. (Smks)
3x+4y+2z=21" :
x+y+5z=15
x+y+z=7

~ Total
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17_ A dealer makes a proﬁt of 20% when he sells a calculator at Shs. 960 and less of x% whenhe sells-':,
a textboqk at Shs.1,080. Calculate the value of xif by selling one calculator and two textbooks he

: | makes an overall loss of 2.5% o o (3mks)
N, 74‘%9 BN
S \1ﬂ %UV : \%, 7

7V( lOW}"r %0 E 3?“4

5'2'0 >\\\P°

e

W’SU '°_,
52—_’_/_2:.., s \ 20w

7.\ 18. The pomts on. the earth surfaces are such that Bis 240m ona beanng of 030° fronl,;l-"oint A;{E'iéail’lll - -;' : o
Cis 120° from B and the distance of C from A is 260m. o

a) Sketch the relatlve ;positions of A BandC usmg the scale of Icm rep 40m (lmk)

- “bYy Calculél;e»in hectares the area enclosed by th._e"thri_ee 'p'di:n‘t's A, B anfd,,C,. . (2mks)

Total
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SECTION B

19. Given that log, 3 = 0.6813 and log 2 = 0.4368, evaluate the following.

a) log 15 ’ (2mks)
b) log.18 7 (2mks)
c) log, 500 (2mks)

20. Aline L, passes through point (2, 2) and has gradient %. Alinel, mtersects L atpointQ whose
X—ordmate is 4. L, intersect with L, at R while L, intersect with L at S whose Y-ordmate is - 3 If
L andL, mtersect on'the Y-axis at Pomt T and gwen that QRST is a square, find

.R\
a) i)the equation of L, and hence the co-ordinates ofQand T (2 mks)
—- el 4y
D= = V. NG
2- Y =
n - S -\
- = (54 &:@)3)
o 3 \/7/7C—"\' \
ii) the equation of L, hence the/ coordinates of S (1mk)
w-— QA &&( \ <
T CO, s)
iii) the equvations of L, and L, hence the coordinates of R (1mk)

Lu 3:fz>c+l

é ~2.2C 1 :

2y =% G ,” 3)

=2

b) The area of the square. A . (2mks)

-~

“Total
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21. Using ruler and compasses only, construct
a) Triangle OBC in which OB = 3¢m, OC = 7?.4cm and angle BOC = 105°, (kas) :
b) Drop a perpendicular from € to meet BO produced at T, measure CT hence calculate the area
of triangle OBC. ' _ (kas]
c) Using BC as the base on opposite side of CB asT, construct a parallelogram BCDE such that
angle CBE = 67%° and BE = 5cm. . (2mks) ‘ - B

Total
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